Roll No. 245127210

24-DEO-4495 Regn. No.

RESULT-cum-DETAILED MARKS CARD

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PARVEEN KUMAR : BALBIR SINGH Father's Name : MALKIT KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	48 11	40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	56 12	40AG	100	А	8	04.0	32.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	50 14	40AG	100	B+	7	04.0	28.0
4	DA-13 DATA ANALYTICS USING EXCEL	51 15	40AG	100	А	8	04.0	32.0
	TOTAL	0257		0400			16.0	120.0
	GRAND TOTAL	0257		0400			16.0	120.0

PASSED AND HAS OBTAINED: RESULT: SGPA 7.50

DATED:	JUN 26,2025	
KLIBLIKSHE	TERA	

Checked by 1.

(Clerk) (Assistant)

Data	٥f	issue	

Roll No. 245127215

24-DEO-4497 Regn. No. RESULT-cum-DETAILED MARKS CARD

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRIYA KUMARI : SATYENDRA PRASAD Father's Name

: BABY DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	55 15	40AG	100	Α	8	04.0	32.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	53 10	40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	47 13	40AG	100	B+	7	04.0	28.0
4	DA-13 DATA ANALYTICS USING EXCEL	49 14	40AG	100	B+	7	04.0	28.0
	TOTAL	0256		0400			16.0	116.0
	GRAND TOTAL	0256		0400			16.0	116.0

PASSED AND HAS OBTAINED: SGPA 7.25 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127216

24-DEO-4498 Regn. No. RESULT-cum-DETAILED MARKS CARD

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : TANYA RAJ

: DHANESH KUMAR Father's Name : MUNNI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	55 12	40AG	100	Α	8	04.0	32.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	48 11	40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	44 14	40AG	100	B+	7	04.0	28.0
4	DA-13 DATA ANALYTICS USING EXCEL	50 14	40AG	100	B+	7	04.0	28.0
	TOTAL	0248		0400			16.0	116.0
	GRAND TOTAL	0248		0400			16.0	116.0

PASSED AND HAS OBTAINED: SGPA 7.25 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127219

RESULT-cum-DETAILED MARKS CARD

24-DEO-4499 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MEENU MISHRA

: CHANDRASEN MISHRA Father's Name : SANDHYA MISHRA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	48	12	40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	50	13	40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	51	17	40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	52	11	40AG	100	B+	7	04.0	28.0
	TOTAL		0254		0400			16.0	116.0
	GRAND TOTAL		0254		0400			16.0	116.0

PASSED AND HAS OBTAINED: RESULT: SGPA 7.25

5711 20,2020	DATED: JUN 26,2025
--------------	--------------------

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127227

RESULT-cum-DETAILED MARKS CARD

24-DEO-4500 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRINCE KUMAR

: PAWAN KUMAR YADAV Father's Name

: SUSHILA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	63 17	40AG	100	A+	9	04.0	36.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	62 18	40AG	100	A+	9	04.0	36.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	53 18	40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	60 13	40AG	100	А	8	04.0	32.0
	TOTAL	0304		0400			16.0	136.0
	GRAND TOTAL	0304		0400			16.0	136.

PASSED AND HAS OBTAINED: RESULT: SGPA 8.50

DATED:	JUN	26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127247

RESULT-cum-DETAILED MARKS CARD

24-DEO-4502 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ISHITA SHARMA : RAJINDER SHARDA Father's Name : MAMTA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	58	25	40AG	100	A+	9	04.0	36.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	52	22	40AG	100	A	8	04.0	32.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	52	22	40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	53	23	40AG	100	A+	9	04.0	36.0
	TOTAL		0307		0400			16.0	136.0
	GRAND TOTAL		0307		0400			16.0	136.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.50

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Checked by 1.

Data of issue

(Clerk) (Assistant)



Roll No. 245127254

24-DEO-4503 Regn. No. RESULT-cum-DETAILED MARKS CARD

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : DIVYA BHARTI Father's Name : UPENDER BHARTI : PADMAWATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	67	12	40AG	100	A+	9	04.0	36.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	59	17	40AG	100	A+	9	04.0	36.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	61	17	40AG	100	A+	9	04.0	36.0
4	DA-13 DATA ANALYTICS USING EXCEL	53	15	40AG	100	А	8	04.0	32.0
	TOTAL		0301		0400			16.0	140.0
	GRAND TOTAL		0301		0400			16.0	140.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.75

		(0	Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue			
	Data of issue		

Roll No. 245127263

RESULT-cum-DETAILED MARKS CARD

24-DEO-4505 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NITIN

: MANOJ KUMAR Father's Name

: ANJU Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	nined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	51 11		40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	48 9		40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	54 10		40AG	100	B+	7	04.0	28.0
4	DA-13 DATA ANALYTICS USING EXCEL	41 11		40AG	100	В	6	04.0	24.0
	TOTAL	02	235		0400			16.0	108.0
	GRAND TOTAL	02	235		0400			16.0	108.0

PASSED AND HAS OBTAINED: RESULT: SGPA 6.75

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127264

24-DEO-4506 Regn. No.

RESULT-cum-DETAILED MARKS CARD DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025

(CBCS-CDOE)

Name : SIMRANJEET KAUR : SURENDER SINGH Father's Name

: RAJ KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	51 12	40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	53 13	40AG	100	А	8	04.0	32.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	58 15	40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	58 13	40AG	100	А	8	04.0	32.0
	TOTAL	0273		0400			16.0	124.0
	GRAND TOTAL	0273		0400			16.0	124.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.75

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127271

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4507

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANDEEP SHARMA

Father's Name : DHARAM PAL Mother's Name : KAMLESH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	39	17		40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	22	9	F	40AG	100	F	0	04.0	0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	32	14		40AG	100	С	5	04.0	20.0
4	DA-13 DATA ANALYTICS USING EXCEL	30	13		40AG	100	С	5	04.0	20.0
	TOTAL		**	*		0400			16.0	068.0
									16.0	68.0

RESULT: RE - TILL MAR- 2027 IN: DA-11

		(C	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLE	ROF	EXAMIN	ATIONS
-----------	-----	--------	--------

Data of issue _____

Regn. No.

Roll No. 245127278

24-DEO-4508

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : MANOJ KUMAR BISHT Father's Name : MOHAN SINGH BISHT

Mother's Name : KAMALA BISHT

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	44	12		40AG	100	B+	7	04.0	28.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	51	13		40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	42	10		40AG	100	В	6	04.0	24.0
4	DA-13 DATA ANALYTICS USING EXCEL	25	10	F	40AG	100	F	0	04.0	0
	TOTAL		;	***		0400			16.0	080.0
									16.0	80.0

RESULT: RE - TILL MAR- 2027 IN: DA-13

DATED :	JUN 26,2025	
KURUKSHE	TERA	

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Bank

CONTROLLER OF EXAMINATIONS

Data of issue

Roll No. 245127285

Regn. No. 24-DEO-4509

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

RESULT-cum-DETAILED MARKS CARD

Name : PARTH BHOLA
Father's Name : GAURAV BHOLA
Mother's Name : RASHMI BHOLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obt	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	18	3	F	40AG	100	F	0	04.0	0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	15	6	F	40AG	100	F	0	04.0	0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	17	3	F	40AG	100	F	0	04.0	0
4	DA-13 DATA ANALYTICS USING EXCEL	23	3	F	40AG	100	F	0	04.0	0
	TOTAL		×	****		0400			16.0	0.000
									16.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

Data of issue

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127286

RESULT-cum-DETAILED MARKS CARD

24-DEO-4510 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : VIJENDER CHAUHAN : RAJESH KUMAR Father's Name

: RAJNI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	AB	AB	F	40AG	100	F	0	04.0	0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	40	17		40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	АВ	AB	F	40AG	100	F	0	04.0	0
4	DA-13 DATA ANALYTICS USING EXCEL	42	18		40AG	100	B+	7	04.0	28.0
	TOTAL		*	**		0400			16.0	056.0
									8.0	56.0

DA-14 DA-12 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127287

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4511

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRADEEP KUMAR TRIPATHI
Father's Name : BHANU PRATAP TRIPATHI
Mother's Name : SHAKUNTALA TRIPATHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	62	16	40AG	100	A+	9	04.0	36.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	58	17	40AG	100	A+	9	04.0	36.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	52	18	40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	42	18	40AG	100	B+	7	04.0	28.0
	TOTAL		0283		0400			16.0	132.0
	GRAND TOTAL		0283		0400			16.0	132.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.25

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLE	R OF	EXAMIN	NATIONS
-----------	------	--------	---------

Roll No. 245127291

RESULT-cum-DETAILED MARKS CARD

24-DEO-4512 Regn. No.

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANJALI

: RAVINDER MALIK Father's Name

: JASWANTI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	DA-14 PROGRAMMING IN PYTHON	51	14		40AG	100	А	8	04.0	32.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	47	12		40AG	100	B+	7	04.0	28.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	57	14		40AG	100	А	8	04.0	32.0
4	DA-13 DATA ANALYTICS USING EXCEL	00	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0400			16.0	092.0
									16.0	92.0

DA-13 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127312

24-DEO-4516 Regn. No.

RESULT-cum-DETAILED MARKS CARD

DIPLOMA IN DATA ANALYTICS SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANSH SHARMA : ANIL SHARMA Father's Name : MONIKA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	DA-14 PROGRAMMING IN PYTHON	67	16	40AG	100	A+	9	04.0	36.0
2	DA-11 INTRODUCTION TO STATISTICAL ANALYSIS	55	17	40AG	100	А	8	04.0	32.0
3	DA-12 INTRODUCTION TO DATA ANALYTICS	57	18	40AG	100	A+	9	04.0	36.0
4	DA-13 DATA ANALYTICS USING EXCEL	59	16	40AG	100	A+	9	04.0	36.0
	TOTAL		0305		0400			16.0	140.0
	GRAND TOTAL		0305		0400			16.0	140.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.75

DATED:	JUN 26,2025	
KURUKSHE	TERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)